Installation and Assembly - Spider™ Universal Adapter Plate
Patent No.D597,582 To be used with PJF, PJF2, PRS and RTR Series

Models: PAP UNV, PAP UNV-S,

PAP UNV-W

This product is intended for use with UL
ul- Listed products and must be installed by a
c ® “s qualified professional installer.

Touchboards

Phone: 866-94 BOARDS (26273) / (732)-222-1511
Fax: (732)-222-7088 | E-mail: sales@touchboards.com

IMPORTANT! |Read entire instruction sheet
before you start installation and assembly.

Before you start check the parts list below to
make sure all of the parts shown are included.

CAUTION

* Itis the responsibility of the installer to ensure that the

projector is properly ventilated. Spacers are provided to
raise the mount off the projector surface.

A WARNING

* Installer must verify that the ceiling will safely support

four times the combined weight of all attached equip-
ment and hardware.

Parts List
Description Qty. PAPUNV PAPUNV-S PAP UNV-W
AA adapter plate (without connection block) 1 055-1867 055-4867 055-2867
adapter plate (with connection block) 1 055-1879  055-4879 055-2879
BB M3 x 8 mm serrated washer head socket pin screw (not shown) 4 510-1004 510-2004 510-2004
CC M4 x 10 mm serrated washer head socket pin screw (not shown) 4 510-1060 510-2060 510-2060
DD M5 x 10 mm serrated washer head socket pin screw (not shown) 4 510-1126  510-2063 510-2063
EE M6 x 10 mm serrated washer head socket pin screw (not shown) 4 510-1066  510-2066 510-2066
FF 4 mm security allen wrench (for PAP only) 1 560-9646  560-9646 560-9646
GG 2 mm security allen wrench 1 560-1097  560-1097 560-1097
HH washer 4 540-1025  540-2025 540-2025
Note: Actual parts may appear slightly different than illustrated.
4 N\
Configuration without Connection Block (For use with PJF Configuration with Connection Block (Connection block is
\__and PJF2 models) provided with PRS and RTR model) J

HH

GG

10f2

ISSUED: 09-12-05 SHEET #: 055-9438-7 11-05-09

Visit the Peerless Web Site at www.peerlessmounts.com

For customer care call 1-800-729-0307 or 708-865-8870.



INTERWORLD
tb

http://www.touchboards.com

Note: The projector you are installing may differ in appearance from the sample illustrated below.

gravity as possible without covering any mounting holes. Loosen channels, and if there are only three mounting

o Place projector upside down. Locate adapter plate (AA) with notch facing forward as close to projector center of

holes remove fourth channel. Using one channel for each mounting hole, position feet of channels over mounting
holes as shown below. Important: If projector does not have at least three mounting holes, do not use this

adapter plate.

Note: Some projectors have feet which can be removed and the corresponding threaded insert can be used for a

mounting hole.

Note: Once channels are in position retighten fasteners.

*Notch indicates front of projector.

-

Mounting/

hole

\

Generic Projector

L/

Tighten all screws, while keeping the center of gravity. Be sure that adapter plate (AA) is straight. Adjust the feet

e Attach adapter plate (AA) to projector using one screw (BB, CC, DD, or EE) for each channel as shown below.

of the channels to keep the adapter plate level. Tighten all screws with 4 mm security allen wrench (FF) or wrench
provided with projector mount, while keeping the center of gravity. If M3 screws are used, tighten using 2 mm

security allen wrench (GG).

Note: Projectors will require different size screws for mounting. Use a combination of screws (BB, CC, DD, or EE)
and foot adjustment that will result in channels of adapter plate (AA) fitting tightly against projector. Important: In
order to properly engage the threads in the mounting holes, the screw must be turned at least 3 full turns.

Note: If using screw (BB), place washer (HH) between screw (BB) and foot of channel.

CAUTION

* Itis the responsibility of the installer to ensure that the
projector is properly ventilated. Feet of channels are
used to raise the mount off the projector surface.

——BB,CC,DD,
or EE

n—2

Foot of Channel

20f2

ISSUED: 09-12-05 SHEET #: 055-9438-7 11-05-09

Visit the Peerless Web Site at www.peerlessmounts.com

©2008 Peerless Industries, Inc. Allrights reserved.
Peerlessis aregistered trademark of Peerless Industries, Inc.
Spideris atrademark of Peerless Industries, Inc.

Allother brand and product names are trademarks or registered trademarks of their respective owners.

For customer care call 1-800-729-0307 or 708-865-8870.



